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log[Empfindlichkeit]
logVo = —0,35[1)—Uss7]2
logVa= logV,+0,00
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|Og Lo = —0,35[1)\—LI570]
logM o= —0,35[1~Uss]?
logLa=logLo-0,19
=logM+0,24
u\=(A—550)/50

log[Sattigung]

logVo = —0,35[)—Uss7]2 log

logVa=logV,+0,00 logLa=logLo-0,19

log [Va/Vo, La/Vo, Ma/Vo] logM 2= log V+0,24
Ma L

|Og LQ = —0,35[.])\—U570]
= —0,35[) U542

Adaptation
L&M: 620

Vo =-0,55 Va=-0,%
Mo=-0,79 Ma=—0%
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Séttigung \%
4 Adaptation
L&M: 620
0.1

495Ec  565Ec

log[Empfindlichkeit]
l0gVo = ~0,35[1~Uss7]2
logVa= logV,+0,00

l0g [Va, La, Md]
Ma La
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|Og Lo = —0,35[1)\—LI570]

logM o= —0,35[1~Uss]2

logLa=logLo+0,07

logM = logM+0,07
u\=(A—550)/50
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log[Sattigung]

logVo = —0,35[1)—Uss7]2 log

logVa=logV,+0,00 logLa=logLo+0,07

log [Va/Vo, La/Vo, Ma/Vo] logM = log M ,+0,07
Ma La Séttigung \%

logLo = -0,35)—Us7q
= —0,35[) U522
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Adaptation
L&M: 570
cao 101

——
L0=0,00 La=-0,
V0=-0,02 Va=-0,&
Mo=-0,09 Ma=—0,&
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L&M: 570
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log[Empfindlichkeit]
logVo = —0,35[1,~Uss72
logVa= logV,+0,00

600Ad¢/nm 700Ac 400

logLa=logLo+0,58
logVl2=logMV—0,11
u,=(A-550)/50
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log[Sattigung]
logVo = —0,35[1)~Uss7]2 log
logVa=logV,+0,00 logLa=logLo+0,58
log [Va/Vo, LaVo, Ma/Vo) logMa=logM-—0,11
GaMala Sattigung V

logLo = -0,35)~Us7d
= —0,35[) U542

Adaptation
L&M: 520
1=0.1
_u C:G La=-0,1
Va=-0,1€
Mo— 0,09 Ma=-0,1¢

495Ec  565Ec

Adaptation
L&M: 520
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log[Empfindlichkeit]
logVo = —0,35[1,~Uss72
logVa= logV,+0,00

a
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|Og Lo = —0,35[1)\—L|57o]

logM o= —0,35[1~Uss2

logLa=logLo+1,12

logM = logM-—0,28
u\=(A\-550)/50

600rd/nm 700Ac 400

log[Sattigung] logLo = -0,35l)~Us7d
logVo = —0,35[1)~Uss7]2 logM o= —0,35[1)—Us.:]2
logVa=logV,+0,00 logLa=logLo+1,12
log [Va/Vo, La/Vo, Ma/Vo] logM 2= log,—0,28

B. Sattigung V
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N Adaptation
N\ L&M: 470
N =0.1

N A
Lo=-1,40 La=-1,C¢
VO==1,06 Vg=1,C¢
Mo=-0,79 Ma=-1,6¢
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Adaptation
L&M: 470
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lin[Empfindlichkeit]
logVo = —0,350)~Uss7]2 log
logVo+0,00

logVa=
[Va La

]

logLo = -0,35u,~Us7q
= —0,35[)~Us.12
logLa=logLo-0,19
logV2=logM+0,24
Mala Ra u,=(A-550)/50

1,0

Adaptation

L0=-0.35 La=-05¢
VQ=-0.55 Va=-0.5¢
MQ=-0.79 Ma=-0.5¢
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lin[Sattigung]

l0gVo = ~0,35[i,~Uss7?
logVa= logV,+0,00
[ValVo, Lal¥o i /Vo]

|Og Lo = —0,35[1)\—L|57o]

logM o= —0,35[1,~Uss92

logLa=logLo-0,19

logM = logM+0,24
Ra Sattigung V/

MaLa
2
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Adaptation
L&M: 620
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lin[Empfindlichkeit]
l0gVo = ~0,35[1,~Uss7]2
logVo+0,00

IogVa
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logLo = -0,35u)~Us7q

logM o= —0,350)~Us.:]?

logLa=logLo+0,07

logMa= log M+0,07
u\=(A-550)/50
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lin[Sattigung]

logVo = —0,35[1~Uss72
logVa= logV,+0,00

[ValVo, LaVo, MV
Ma La
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|Og Lo = —0,35[1)\—L|57o]

logM o= —0,35[1)~Uss]2

logLa=logLo+0,07

logM = logM+0,07
Sattigung V/

1,0

Adaptation

L&M: 570
57o:tr_0'l
Lo=0.0 Lg=-0.0:
MQ=-0.09 Mg=-0.0

495Ec  565Ec
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Adaptation
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lin[Empfindlichkeit]

l0gVo = ~0,35[1,~Uss7]2 log
IogVo+0 (0]0]

logVa=
[Vliv La,

= —0,35[)~Us.?

logLa=logLo+0,58

=logM-0,11
uy=(A-550)/50

500

lin[Sattigung]
logVo = —0,35[1~Uss72
logVa= logV,+0,00

[ValVo, LalVo, MoV
Ga Mala

600Ad/nm 700Ac 400

|Og Lo = —0,35[1)\—L|57o]
logM o= —0,35[1~Uss]2
logLa=logLo+0,58
logVl2=logV,—0,11
Sattigung V

1,0

Adaptation
L&M: 520
520: t70.1

L0=-0.35La=-02
V0=-02 Va=-0.2
Mo=-0.09 Ma=-0.2
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— Adaptation
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lin[Empfindlichkeit]
logVo = —0,35[,~Uss7]? log

logVa=logVy+0,00

[Va La

1
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logLo = —0,35\~Us7q
= —0,35[)~Us.)?
logLa=logLo+1,12

logMV2=logM--0,28
Mala u\=(A-550)/50
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lin[Sattigung]

logVo = —0,35[1~Uss72
logVa= logV,+0,00
[ValVo, La/\éo, Vo]
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logLo = —0,35[u)—Us7q
logM o= —0,35[1~Uss]2
logLa=logLo+1,12

log\N\ = logVo-0,28
jgung V
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Adaptation
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Adaptation
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